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QUESTION 1

A database administrator wants to enable goedatabase functionality on the current production database.
Another user will be in charge of goedatabse administrator but the user does NOT currently exist in the
database.

Which tool can the database administrator use?

A. Enable Enterprise Goedatabase

B. Register with Goedatabase

C. Create Enterprise Goedatabase

D. Import Goedatabase Configuration keyword

Correct Answer: D

QUESTION 2

The geodatabas administrator has requested the data creator make changes to the geometry storage of a feature class.
The features class will need to be changed from SQL Geometry to SDEBINARY. Which workflow should the data
creator use?

A. Use the Migrate Storage geoprocessing tool

B. Changes the geometry storage type in the feature class properties.

C. Use the geometry Spatial Reference geoprocessing tool

D. Copy and paste the feature class to after the geometry storage type

Correct Answer: D

QUESTION 3

How should a GIS administrator add a feature class to an existing replica?

A. Import the feature class into the child, then synchronizes from child parent.
B. Import the feature class into the parent, then synchronize both ways.

C. Import the feature class into the include the new feature class.

D. Use the Compare Schema and Import Scheme tools.

Correct Answer: A
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QUESTION 4

Which products must first authorized to obtain the keycodes field to then authorize an enterprise geodatabase?
A. ArcGIS Desktop

B. ArcGIS Server

C. Portal for ArcGIS

D. ArcGIS Pro

Correct Answer: B

QUESTION 5

What is require to add a new filed to a feature class in an enterprise geodatabase?
A. Exclusive state lock

B. Shared state lock

C. Exclusive schema lock

D. Shared schema lock

Correct Answer: C

QUESTION 6

A company requires that filed workers take multiple pictures and store the picture with the class. The company recently
requirement to save PDF report documents. Which geodatabase element should the administrator to meet the
requirements?

A. Attachments

B. Attribute domains

C. Network database

D. Topology

Correct Answer: D

QUESTION 7
What is an example of a point topology rule?
A. Must Be Single part

B. Must Be properly Inside
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C. Must Be Inside
D. Must Not intersect

Correct Answer: B

QUESTION 8

A company has a non-version class that contains 1 million rows. The information in the class needs to be
replace with new information every month. The feature class is used in web services and has schema

locks.

Which workflow can the administrator use to update the feature class with the information/

A. Delete the feature class > Use conversion tools to create a new feature class

B. Truncate the feature class > Append the new data into the feature class

C. Delete the schema locks > Drop the feature class > Create a new feature class > Load the data

D. Create a new feature class with the new data > Rename the feature class > Rename the new feature class

Correct Answer: D

QUESTION 9

An administrator creates a map service that performs quickly. When the text descriptions are added to the map, the
service draws slowly. What should the administrator implement to increase the performance of the map service?

A. Annotation
B. Maplex label engine
C. Antialiasing
D. Protection on the fly

Correct Answer: B

QUESTION 10

What can be used to import the performance of join in map?
A. Use a related instead of join

B. Add an attribute index on the filed

C. Create a Definition Query on the joined layer
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D. Rebuild the spatial index

Correct Answer: A

QUESTION 11

What is the difference between data and versioned data with the move edit to base option select when saving made in
the DEFAULT version?

A. With versions data, the remain in the data tables.

B. With versioned data move edits to base, the edits remain in the data tables.

C. With versioned data, the ability to undo is NOT possible.

D. With versioned data with move edits to base, the ability to undo is NOT possible.

Correct Answer: B

QUESTION 12

An ArcGIS user must load a shapefile into a file geodatabaase feature class. The shapefile contains a filed type Number
and contains whole numbers with a maximum length of seven digits. Which data type will the corresponding filed
contains in the feature class

A. Long integer

B. Number

C. Shot integer

D. Float

Correct Answer: B

QUESTION 13

Which option is a data type for a subtype in feature class?
A. Text

B. Double

C. Short integer

D. Float

Correct Answer: A
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QUESTION 14

Every time a user adds a database view to the map document, the ArcGIS client prompts the user to
specific a unique identifier and spatial reference.

What could the geodatabase administrator do to prevent this prompt?

A. Register the view as versioned

B. Unregistered the view as versions

C. Unregistered with the goedatabase

D. Register the view with the geodatabase

Correct Answer: B

QUESTION 15

A company has two groups of employee. One groups edits data, and the other group has read-only access to data All
employees have access to a shared set of layer files and, ap documents. Employees often change groups as their
function change. Which TWO things should be configured to ensure read=only users are unable to edit data when they
use files or map documents? (Choose two.)

A. Database Roles

B. Grouping Analysis

C. Active Directory

D. File permission

E. Version permissions

Correct Answer: DE
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